35 Lecture- CS501

| mportant Mcqgs

1. What is the result of multiplying -4 and 67
a) -24
b) 24
c) -10
d) 10
Answer: a) -24

What is the result of dividing 24 by -3?
a) -8

b) 8

c) -6

d) 6

Answer: a) -8

What is the product of -5 and -8?
a) -40

b) 40

c) -13

d) 13

Answer: b) 40

What is the quotient of 15 divided by -5?
a) -3

b) 3

c) -2

d) 2

Answer: a) -3

What is the product of -7 and 0?
a)7

b) O

c) -7

d) Undefined

Answer: b) 0

What is the quotient of 0 divided by 67
a0

b) 1

¢) Undefined

d) Infinity

Answer: a) 0

What is the result of multiplying -3 and -4 and then dividing the result by -6?
a) 2



b) -2

Cc) 4

d) -4
Answer: a) 2

What is the quotient of 25 divided by 4, rounded to the nearest whole number?
a) 6

b) 7

c) 5

d) 8

Answer: b) 7

What is the product of -2 and the sum of 3 and 5?
a) -16

b) -6

c) -8

d) 16

Answer: c) -8

What is the quotient of -12 divided by -47?
a) -3

b) 3

c) -4

d) 4

Answer: b) 3



